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Grébe huppé 30 8 10 3 1 52 2 20 74 20 13 20 11 64 8 12 20 72| 158
Grébe castagneux 1 4 7 12 1 13 20 20 4 4 32 37
Grebe a cou noir 0 0 1 1 0 1 1
Grande Aigrette 2 2 2 0 0 2 2
Oie cendrée 4 20 24 24 0 0 24 24
Bernache du Canada 0 0f 102 102 of 102 102
Oie sp. 0 0 0 1 1 0 1
Cygne tuberculé 12 31 43 15 58 0 1 1 43 59
Tadorne de Belon 0 0 0 1 1 0 1
Canard siffleur 32 26 58 58 0 1 1 58 59
Canard chipeau 25 25 25 4 4 0 29 29
Sarcelle d'hiver 25 30 112 46 213 30 243 18 18 1 2 3 231 264
Canard colvert 320 97 43 561 99 30[ 1150 20 40 200| 1410 915 86 24 148 44| 1217 67 90| 157| 2065| 2784
Canard pilet 2 2 2 0 0 2 2
Fuligule milouin 42 3 45 10 55 13 13 9 9 58 77
Fuligule morillon 0 0 1 1 2 0 1 2
Garrot a oeil d'or 0 0 0 1 1 0 1
Harle piette 2 2 2 0 0 2 2
Foulgue macroule 101 5 1 107 64| 171 84 4 44 132 220 220f 191 523
Goéland leucophée 25 25 25 0 0 25 25
Courlis cendré 88 88 88 0 0 88 88
Bécassine des marais 100 100 100 0 0f 100( 100
Grue cendrée 36 36 36 0 0 36 36
TOTAUX 630 142 89 920 153 50| 1984 22 86 294| 2386| 1178 103 24 212 56| 1573 77 341 418| 3162| 4377




